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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]

3500

3000

2500

EcFzExp
ECdef
EcParam
water_ec

20 % 2t 0 ¢ 2t X 2t X ¢ ¢ % 2t

WHNHX XWX RWR

2000

1500

1000

Warning: co

[' EcFgro’

"EcPltng

1 is missing

500

25

50

100 125 150 175



3500

3000

2500

2000

1500

1000

500

Plot [ ECopt’]

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

—— IesetVI_ETcI 1 i

400 - —0— setVIl_fgRec » ” R i

—@— setVI_VN |

—— |SetVI 1

300 — B /\ dv‘;‘r' o !

' odd heet 1Y ||

200 L = w® @w =\~ sl ]

) \ AY e e o S B850 e0080001000000000000000000000000000:

100 ; eeeyqon . ,A,"},M' Sge" | | :

SLman R i |

0 as g :

o

60

80




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-13

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS ERE

08:00 283 150.0 2.888 |Z=| {Ri&e08:00 Bzl (KAERHE)
08:35 283 150.0 2.888 |Z=| {Ri%e08:35 Bz (REAEHE)
09:25 283 150.0 2.888 |Z=| {Ri%e09:25 Bz (KREAEHSE)
10:05 283 150.0 2.888 FA| {Ri&@10:05 Bzl (GkAEEEE)
10:40 283 150.0 2.888 FE| 1BRi%@10:40 B3 (kAFERSE)
11:15 283 150.0 2. 888 FE| 1BRi%e11:15 Bzh (kBERSE)
11:45 283 150.0 2.888 FH| FnHAe11:45 Bzh (KAERSE)
12:15 283 150.0 2.888 |/\fi| FmHA@12:15 Bzh (RAEESE)
12:45 283 150.0 2.888 |/\fu| FhHA@12:45 Bz (KREAEHE)
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16:15 283 150.0 2.888 |/\fly| FnHAe16:15 BHzh (RAAEREE)
17:10 283 150.0 2.888 |/\fu| FhHA@17:10 Bzl (REAERHSE)
Bit] 4528.0 (16%%) 2400.0 3EUHIKEC: 2200, PH: 5.6
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WREY S RFHRPH 5.6, HTHEARNAZEBEEEPH, BFahiAE
[E);%EC 6430.0 K5, ZEiLBIKECAEZ hEE R

HE[E]RECE (1760. 0 vs 6430.0) 5

FRBVFE NS KIFREC 2200.0



ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=74.0 (2025-06-13)

150 A

100 A

50

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1958

1472
1100

725 736
6
60
00
FRV

Warning: lcol ["WC1',  "WC2'] missing

optEC0=3000. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @74 11:53: ET=1610 Fg=1950.0 Ro=427.0

7
- 3000
- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B | BH [ BH [ BA [ BA [ BA | BA | BA | BA |/hda |/ | /vl | hvls [l [l [l [l [ AN | ANE VR | B R | BB | S5

- 3000

100 -

0 —R—=R_—=R__—=§K—
0 1 2 3 4

]
ByEt @74 11:49: ET=1078 Fg=1018. 0 Ro=nan /IL\/\

- 2000

- 1000

5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 -

BH 1 B [ BH [ BA [ BA [ BA 2= |Z=|Z= || BB | BB @@ [Ad D@ [Dm[DmE[DAE| BB ZE SR |55

- 3000

200

100 -

1.0 —=—=R—=R_—=K—
) 0 1 2 3 4

]
ByWoFv @D74 11:53: ET=1956 Fg=2400.0 Ro=528.0 /\/\
. I

- 2000

- 1000

0.8

0.6

0.4+

0.2~

BH 1 B [ BH [ BA [ BA [ BA 2= |Z=|Z= || BB | BB @@ [Ad D@ [Dm[DmE[DAE| BB ZE SR |55

0.0
800 7

600 -

400 -

200 -

\ A A WarRing: ', "PPFD_obs’] is missing

30

25 -

20 A

15

80 A

60

ing: col ['T " 'To_obs’'] is missing

"RHo_obs’ ] is miss

—— RH Warning: col ['RH obs’,

S
S
FRV (ml plant-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



hour

100

~
S
o
|

80

- 60
12:00

13:25 10
14:10

14:55

15:40

§_

2

%,
%

: ‘*@»
%

=
4

)
-

zé?e. O

T



P3-13
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P3-13_0, Day=73 (2025-06-12)
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P3-13

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:40 283 150.0 2. 888 RS {Ri&e07:40 Bal (REAEEE)
08:10 283 150.0 2.888 RS {Ri&e08:10 Bzl (REAEHEE)
08:55 283 150.0 2. 888 RS {Ri&e08:55 Bz (REAERESE)
09:30 283 150.0 2.888 RS {Ri%e09:30 Bal (REEEE)
10:00 283 150.0 2.888 BE| Ri%@10:00 Bzl (REAEHE)
10:30 283 150.0 2. 888 e {Ri8@10:30 Bz (REAERSE)
11:00 283 150.0 2.888 el Rige11:00 Ba) (REEESE)
11:30 283 150.0 2.888 el Rige11:30 Bz (REAEHSE)
12:05 283 150.0 2. 888 B Rige12:05 Bz (REAERE)
12:45 283 150.0 2.888 Bl Rige12:45 Ba (REAEESE)
13:15 283 150.0 2.888 | Ri%e13:15 Bz (REAERESE)
13:50 283 150.0 2.888 BS| 1Ri%e13:50 B3 (GREMEESE)
14:25 283 150.0 2.888 sl Rige14:25 Bal (REEESE)
15:05 283 150.0 2.888 B 1Rige15:05 Bah (REEESE)
15:45 283 150.0 2.888 RS {BRi&e15:45 B3h (REERSE)
16:35 283 150.0 2. 888 S| 1Ri%e16:35 B (RF{EREE)
Bit] 4528.0 (16%%) 2400.0 3EUHIKEC: 2200, PH: 5.6

FERRNEREEFEEART (184.0 : 139.0), AgEHF—RE XAHHS
ZRIAEBRIERE139.0 ml.

FREVEIN S RHIBPH 5.6, B THEARHAZIFESIFEPH, 15F A%
[E;KEC 7487.0 K5, ZEiBIKECAEZ hiEE R

P EIRECE (1847.0 vs 7487.0) H 5

FRBVFE NS KIFREC 2200.0



ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=72 (2025-06-11)

T e g g e S S B S g

- : 3128
VI,V?nﬁﬁv,ET VI, V0, FVI, EVO, FRV, ad jFRV, ET [ 3000

100 42100 913 3 ?58
- 2000

50 7 L 1000

184 Warning: lcol [FVI',| "FVO’'] missing 60

( o v
— 50 - FRV

FRV (ml plant-1)

Warning: lcol ["WC1',  "WC2'] missing

optEC0=3000. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

1
Bylnit @74 11:54: ET=3542 Fg=3450.0 Ro=72.0 :
1

400 - - 4000

200 - - 2000

o [t 2838 [ 456789 JioJin 1213814151617 18] 192 [21]227]23
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1 |
4004 ByEt @D72 19:36: ET=2467 Fg=2414.0 Ro=nan 4000

200 - - 2000
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0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
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400 1 ByWoFv @D74 11:54: ET=2158 Fg=2400.0 Ro=486.0

- 4000

200 - - 2000
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1500 A
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20 ( J RHo obs

e v P
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cumET (ml/plant)

cumET (ml/plant)
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93.
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54.0 - MW
53.5 A
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52.5 A
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T T T
890 895 900
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—— MW
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P3-13

BflE) | GEBRTK (B)) | ERE (EA/) | EREE (/R | XS SRR

07:10 283 150.0 2. 888 i BRi&@07:10 Bz (RPB{EEE)
07:50 283 150.0 2. 888 RS B2i%@07:50 B3 (RFERESE)
08:25 283 150.0 2. 888 5 B21%@08:25 Bzh (FAERSE)
09:05 283 150.0 2. 888 i B31%@09:05 Bz (KRPBIERE)
09:45 283 150.0 2.888 5 B2i%@09:45 B3h (RFERSE)
10:30 283 150.0 2.888 R Ri%@10:30 Bzl (REERR)
11:05 283 150.0 2.888 R BRige11:05 Bzl (GRPFERESE)
11:45 283 150.0 2.888 5 Bige11:45 B3 GGREERSE)
12:35 283 150.0 2. 888 5 Bi%@12:35 Bzh (ALK
13:15 283 150.0 2. 888 R BRige13:15 Bzl (GRPFEEE)
13:50 283 150.0 2.888 5 B218@13:50 Bzh (RAEESE)
14:35 283 150.0 2. 888 RS Bi%e14:35 Bz (REAERSE)
15:20 283 150.0 2.888 5 B1%@15:20 Bzh (GRAERESE)
16:10 283 150.0 2.888 i Bi8@16:10 Bzh (RAEESE)
17:10 283 150.0 2. 888 Bl FiTe17:10 B3 CGRBERESE)
21t 4245.0 (15)%) 2250. 0 32HEKEC: 2200, PH: 5.6

MEREHLER 2 5 MEIELRT (184.0
ZRIAEBRIERE142.0 ml.

142.0), AlEEHT—R % XA HS

WREY S RFHRPH 5.6, HTHEARNAZEBEEEPH, BFahiAE
[E);%EC 8020.0 K5, ZEiLFBIKECAE & ihEER
[ RECZE (1887. 0 vs 8020.0) 35
FRBVFE NS KIFREC 2200.0




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=71 (2025-06-10)

[ R T T T e T T e L T T
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2760
100 - 1700 787
151
50
40 . L.
Warning: lcol ['FVI',| "FVO'] missing 184

- 3000

- 2000

- 1000

FRV (ml d-1)

FRV (ml plant-1)

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2914. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0
400 4 By lnit @74 11:54: ET=2556 Fg=3000. 0 Ro=568.0

300 -

200

100 -

4000

- 3000

- 2000

cumET (ml/plant)

- 1000

Obl

o
1 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22

23

4000

40 K5 [ B [ W5 [R5 | A5 [R5 [R5 [ RE | M5 [ RE [ A5 [ RE [R5 [R5 [ 5 | A5 [ RE | A5 [ RE [R5 [ RE | RS | AR

ES
5]

]
3004 ByEt @71 19:06: ET=2504 Fg=2085.0 Ro=nan :
I

200 -

®
——

- 3000

- 2000

- 1000

cumET (ml/plant)

il

1 2 4 T 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22

23

4000

- E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES
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P3-13

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERE

08:20 283 150.0 2.888 [Z=| 1Ri&e08:20 Bzh (FEEEEE)
09:25 283 150.0 2.888 |Z=| {Ri%e09:25 Bz (KREAEHE)
10:20 283 150.0 2.888 |Z=| {Ri%e10:20 Bz (KREAEHE)
11:15 283 150.0 2.888 |Z=| BRige11:15 Bz (REAEHE)
12:10 283 150.0 2.888 |Z=| {Rige12:10 Bz (REAEZHE)
13:15 283 150.0 2.888 |/hfu| {Ri&e13:15 Bzl (REAEHSE)
14:05 283 150.0 2.888 FA| {Ri&e14:05 Bzl CGRAEEE)
14:55 283 150. 0 2.888 FH| {Ri%e14:55 Bz (KAEESR)
16:00 283 150.0 2.888 |Z=| {Ri&e16:00 Bz (KREAEHE)
Bit]2547.0 (9%) 1350.0 3EUHIKEC: 2200, PH: 5.6

TERRHLER 2 STEELRT (184.0 :

ZRIAEBRIERE139.0 ml.

[ #XEC 8037.0 K&, HEiUF{RECRE & IMIKER
1Bl RECE (1897.0 vs 8037.0) 3/
REVE IS RIFEREC 2200. 0

139.0), FIEEHT—@E XA HS
REGZ NS RBEPH 5.6, B THEARHAZIFEZhFIEPH, 15F A%




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=70 (2025-06-09)
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